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Module Name : TET - Paper 1 - Tamil
Exam Date : 15-Oct-2022  Batch : 09:00-12:00

Q. No. Question Body and Alternatives

1 1 An example for complex concept is :
F&&H6VMET QLTSNS HBSH MG THSSHHTL D :

A: Source of energy
S1,MMEV eLOGVIEIG 6T
B: Green
W= 2
C: Square
FSITLD
D: Tall
2 Wy
2 2 Who published his work in "Mind in Society" ?
FHETS & ([HG SI& &6 "Mind in Society" 6T6dTM) @S 60 QeuemuiL Loy :

A: Jung
[VIN:1]
B: Morgan
GLOITIT&5 607
C: Vygotsky
MEUSTLEVE
D: Piaget
wresy

3 3| The Insight learning is researched by :
2 &M & smmeneliumn W&e96 uiie) QFWIGaT :

A Vygotsky
MAUGTL VR
B: Piaget
Nwreg
C: Kohler
[eX:330: 3205
D: Watson
QUITL & 60T
4 4 Generally at the age of school entry stage children knowns vocabulary of about words.
QUTGIEUTS LaTerfld QFeuald U6 GLPHENSSHET GeMMBHSLILFLOMS QUMTES MG &6T MBS LILIT.
A: 10,000
10,000
B: 10
10
C: 1,000
1,000
D: 100
100
5 5 How many concepts in a "Tiny Blue Square Block" ?

Al BevBlm FSITE HLML" — QH6L SIS 2 6T6T GILIMTSIE0 0L LI6worL|&6rfl6dT 6T6v0T6u0r 185608 :

A: 3
3
B: 2
2
C: 1
1
D: 4

4
6 6 The techniques like "Case Study", "Projects", "Think-pair-share" are the examples of :
Heofl W6 26, Qe SH L L MIG6T, AHH G 60 — @606 EH6 — LR TH6 CUITETM 2 5H &6 6TeU6U6m & & & MHMay & & meor
5 ITJ600T Ml &5 6T ?
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A': Rote learning
LDGOTEOTS &HMHMEV
B: Active learning
QFWI[HS HHM6L
C: Passive learning
QFWETHME HMHM6V
D: Meaningless learning
QUITHETHME &MMeV
7 7 Which of the following sequence make to learn children easily ?
BEhasaL auflenguile a1 QSHTLET FHLBSH T GBS EH6T 616G Ma: &HMId Q& METeT (LGULD ?

A Sea, Sun, Water, Cloud, Rain
&6V, @&flwedr, B1F, GG, LD
B: Sun, Cloud, Sea, Rain, Water
& flwedr, GLO&LD, &L6V, LoemLp, B
C: Sun, Sea, Cloud, Rain, Water
&HlWwedr, HL6v, GLO&LD, Lenip, BT
D: Water, Rain, Cloud, Sea, Sun
B, emLp, GLOGLD, &L 6V, @ [flweor
8 8 | 'Matter expand on heating' is a generalized concept, like Iron, Gold, Silver and Mercury expand on heating is known as :

QUITBL 6T QauliLgSTe eflflalen LS erme eTedTm QLITE NS uNeOBH S G BLOL, SIS, QeueTer], LMGIFD CUITETMemel
Qeuliuggmev el iflelem G eoTmeoT 6T6oTLIS! :

A: Creative thinking

256G GbG 60 60r
B: Convergent thinking
afifl A emeor
C: Inductive method
Q8M&S550 (enm

D: Deductive method
UGSS0 (emm

9 9 | The concrete operational child can also seriate mentally, an ability is called as :

HHSH W QFWeLITL () Blemeuuileh 2 6TeT GLoBamns WweTFHW TS auflenFILG &SI HMen6T LS :

A Seriation
aflensiL® &8s 60
B: Transitive inference
@ ML Blen6V 2|8LOMETLD
C: Conservation
LTSS TS 60
D: Group
GSw
10 10 | Sir C.V. Raman got the insight about Raman's effect while he was at a board of a ship upon admiring the sea as an example for :
Fi.61.ai @urefler eeflummlul GHTLLIMLLG6) @6 HLILIES6 GLO6 FeTHH60 HLeneull LIMISHS &Mt ;LUS @S5DE
TH&BGHTL (D :

A': Preparatory stage

2SS Blen6
B: Incubation

2 61 auemTi&ES
C: Illumination

aleTg:&1D GG TeiTmIS 60
D: Verification

Fflunigsen

1 11 A teacher shows 10 apples including 4 green and 6 red apples to the students and asked them to answer "Are there less red apples or green apples”. Few students

immediately respond as " there are less red apples". This response indicates the lack of among the pre-operational stage children.
@7 AW wreoreufaeflLLb 4 LFend oMHMILD 6 FeuliL| euevoresor oL ILN6T 6T6or 10 9y L 1LN6T86m6ME: &TetorLNG S 2f6ubmev
SMMEUTS 2_6Tameney FeuliL] o IL6THETT Sj6VevGl LIFnT SuLILN6Ta 6T 2 6T6tr efleorey@ M. Fl6v GLHENS &6 2 L G6ur 26Uy
SOMbHS FleULIL] 6U6TOTE00T 2, LILN6TEH 6T 2_6TeTE 6T60T o IS OTMHEOTT. @) &l LO6TEF QFWLLTL (DG (LHNSW Blemey
GLHOSSH6T L GW @eremwenwd GMOULINGR S

A: Conservation
UMSIS TS &6V

B: Thinking
15 & 6% 60T

C: Imagination
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& HLIMET
D: Hierarchial classification
afleng A eanasUTh

12 12 Social development in children is greatly influenced by the .

GLHEB&ET 6T Feng aueTFFRUNL QUIHLOETE HTHSSMS JHLBSEE Fnlq gl

A : Functioning of school
ueTefl @FwevLIGID 6fSLd

B: Entertainment agency

QUTSICLIMTSHS SemLoLiL]
C: Peer group
SUUTT G
D: Social group
FWPH SW
13 13| In which environment the emotions of children is increased by ?

6T6& GLpBleneUIN6y, GLoMHeN S &6 6T LaTQaWER AHSLTHDS ?

A: School
Lieierfl& 8o LD

B: Family
&@WDULD

C: Friends Group
[H600TLIT & 6T & (D
D: Relatives Group
2 mellerisH6T & W

14 14 Some children spend much time in solitary activity than playing because :
Flov GLRHENSEHET GLBLLLITELTET GBS eflenaTmB Ueng s ST 1 ald, HeflemnowmeT Q&F W& e Cov &ifl& a8 &TrerLD :

A they want to tell others about their activities
HH156M1 60T Q&F WLELEHEMET LDDHMEUTEHEBHEE FnM GeUETOT(HILD 6T60TLISMH &M
B : they are not accepted in groups

G W66V 2eUTSH6T 6 MHMISE & M6T6TLILIL TS SHT6

C: they are unfit for playing
aNemeTWML 2 L 6V &S G 6V6VITHHT6L
D: they hate playing games
allemeTTL6mL S6UT&H6T QleumILILIGTeD
15 15 Once a child acquires a well developed emotional self - reputation, it also acquires a feeling of being in control of there emotional experience. This is known as :

R GLHENS, H6V6V 6UETIFF MM LOTAU(WEFS & W RWHIGLDB GBS0 QLMD LTSI, &6l W LD6TE 6 (WES
WIS &L HLUBSSID 2 60TIen6l QUM MS!. §) 60 607 GTEUTEUITLD.

A': Emotional self - awareness
LDETOEUWEFSR & W eNLALILj6evoT ey
B: Emotional self - efficiency
LDETOEUWEFS &W 2 F& QF WS meiT
C: Emotional self - effectiveness
LOETOEUWEFSR &W ellemere) &S
D: Emotional self - efficacy
LDETEUWFT & W G UWISS SHMEL
16 16 | The theory which recognizes the infants emotional tie to the care giver as an evolved response that promotes survival.

QUMDEn6Y STesoT(HILD LIl6mr Lo S16VMhiISG eSS GBS U6 weTeelwdd LrmfliuaCrm@® ghuGb Neneaorlienu HmSEs &G0
Q& MM :

A': Erikson's psychosocial theory
eTifl& & eofletr 2_6F FeLps& Q& MaTen s
B: Freud's psychoanalytic theory
SUTTUGeN 6T 2 6T UGLIL & Q& MeTen g
C: Bowlby's ethological theory
LayaTen LU QB (enm Q& MeaTen s
D : Bandura's social learning theory
LI600TLQ U [T TNl 63T &FeLngs & MMeL G\ & TeTem&s

17 17| ‘Which involves building Schemas through direct interaction with the environment ?
& LD & 556007 L6l M MIET @GLDBlemey @)L aflementwmmmededr eneuld 6B DTS 6T 2 (HeUTe S ILI[B6eS THIL 60T QG TL LML WIS ?

A Accomodation

() 6007 Mt (& &6V
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B: Assimilation
2 LAIHSH0

C: Adaptation
QUITBHSISH

D: Equilibration
FLOBleneLILIBH &6

18 18 | " personality development is incomplete without the analysis and development of moral values." Who said this ?
"STFLSs LS UL &6 LiGLUUMUe] HmID IeTIFR @)6V6VITLO6 S1,EHeNLD UETIFS (D(HEMLD J6MLIMSI" 6T6TMI o MWEUT W 2

A: Bertrand Russell

SQUIFLITETL F8360

B: Piaget
NwrGsg

C: John Dewey
medT BGul

D: John Frederick Herbert
mer QUL Iflé anFurL
19 19 Anitha was 7 years old when her parents died due to untimely medical help. What kind of ideals would it be if Anitha then took the pledge to study and become a doctor ?

555 CHISH L LBSHSI6 2 561 RO HSHTHSHME, &6 QUDHEHTENT 6oflST G hs CUMS Sjeuefler euwgl 7, LIOUTWEsH
BT SMeT LIS Sl @ LBSSIEUTTE UTCaleT(HILD 6T6dTm 2 MIF QTS 6T(H) & SI86 SHTESTLIT. @S 6T616U6M & W T6oT UL GFIWLD
?

A: Short - term Ideal
GNIRW &mev UL Fwih
B: Interim - Ideal
@eML& &6V ULFIWILD
C: Long - term Ideal
BevoTL &6V VLG WID
D: Life - time Ideal
aumpelledr el S wilh
20 20 Assertion : In a new born child, neurons are not covered by Myelin sheath and formed as the child grows. After the growth of Myelin sheath the motor activities, which

were out of control of the child are under control now.
Reason : Once the formation of Myelin sheath is over, the sensory nerves and motor nerves start functioning.

Gl - NnbHs GLbanguller Bluw,Tmerserfley eninedler afs @)k LILS 6. GBS aleTT alaT) enlnedler afs 2 HauTHmal.
SILCUNE &G LUUME @)6V6VITn6 @) (BHS GLHensuller 2 L6 G W&ELD GLbamsuler &G LUUTL B8 EG6T BRI
HTIE0OTLD - BlW,TTeofl6or emnwiedler afs eueTIFR WenL b5 LN 6iTerrC &LHen & Wl6iT Lj6VedT 2 6o f&FS BILDLISEBLD, G W &8
BIOL&SEBLD QFWEILILS G\GTLBIEE) 6T meoT.

A : Both Assertion and Reason are true
GO LOMHMILD &TFeorD G Teoor® LD &ifl
B: Both Assertion and Reason are false
o DD LOHDILD SITTE00TLD @T60oT(HD &6umi
C: Assertion is true and Reason is false
Fanmm &l IDHMID &M &eum
D: Assertion is false and Reason is true
Fa M Heuml DHMILD STyesorid &ifl
21 21 In which one of the Piaget's moral developmental stages, through pain and pleasure the behaviour change is regulated ?
Hwregealler SLpasmemild 6ThS R(Wp&S auaTiFR L Bleneule, SleTULD oHmilh @ eTLILD fN6VLD BL &g LTHMLOTETSI
PWEGUOSSILORDS ?
A: Stage 1 (1 -5 years)
Blenev 1 (1 -5 24,6007 (H\&6T)
B: Stage2 (5 - 8 years)
Blemev 2 (5 — 8 ,600T(H) &6IT)
C: Stage 3 (9 - 13 years)
Blemev 3 (9 — 13 2y,600T (B GH6IT)
D: Stage4 (13 - 18 years)
Blemev 4 (13 — 18 24,6001 (H) & 6T)
22 22 When asked about the classification of star fish, a student of second standard replied that it belonged to fish. What type of generalization do you find here ?

@ @I UG GLBnSUILLD BLFSHT LSTTrS! 6T 6UendUlley auBLD 6T60T G&HL LTV, & GLPHENS LT 6U6m & 6T6oTmI
Fo IR MS! 61601160, 6THGS 61166)5 LITET Q) LIMSIENLOLI(H &5 GH6V 6T60T 600TL 1918 ?

A: Extended generalization

Nemn& UL QUTSIEnOLILI(H S5 H 60
B: Deficit generalization

GMOLL QUITEImLLILMG &SI SH60

C: Complete generalization
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WPWenLLIL QUITSIELILIHS SIS0
D: Exaggerated generalization
BlemmUL QUITSIMWLILG &SIV

23 23 | Find the correct answer.
Assertion : Asian children less often call on social comparisons to promote their own self-esteem.
Reason : Asian culture heritage reflects social harmony.
Frflwmer eflenLenwis sevor(HILg &aaLd :
Fa DMl : AF U GLLHEOGHET Shiserler QFTHS & W H LI 2 WTESHISHES WD GammelTs Fens Ll CHTe G
QFWRMTTSHET.
STIEO0TLD : QLFI HETEETIT LOTL, FEPS HeVENeTEHHSMmS LNITH LI SR M.
A : Assertion is correct, Reason is wrong
Fa Ml &Fifl, HTTeOrLD Seumi
B: Assertion is wrong and Reason is correct
Fa MM Heuml, &Iyesorid &ifl
C: Both Assertion and Reason are correct
Fa MO LDHMILD &TFesord @ revor(b &ifl
D: Both Assertion and Reason are wrong
Fo DM LOHMILD &TFEooTLD G Teor(hLD SHeumi
24 24 Which activity comes under the Sensitivity Training Strategy ?
2 _gmrje|ujeunmer WM& 2 58 - LweTUGSSLILGLWD Q&Fweum®h

A: excursion

sevall shmieum
B: discussion

S 6VIHSIEMTWITL6V
C: debate

eflaumgid

D: exhibition
HEUOTSH TG
25 25 | Great teachers are not afraid to ask other teachers what they are doing in their classroom denotes teacher is a .
AGLILIMUIG eTeuaUTmI QFWTHMRTIE6T etetmi Lm A NwiseflLEH 6 CHLLSHES FobHsS P FlWFser LwliL@G g
@6LEmeV. @ FQF IR 6Tend GM&ERMSI ?

A: Continuous learner
QHTLIFRWNS SmLeUr
B: Passive learner
QFWeH M HMLIGUT
C: Reflective learner
NreHLef&@Lb smhuely
D: Slow learner
&MHmedlev Ler MG wialy
2626 | To develop creativity among students a teacher should provide activities like :
(a) Practice book back exercises
(b) Asking probing questions

(c) Enhance library usage

(d) Encourage to participates in competition

@F A NWITHW BriigseT meorelfaerflLLD o185 55 Men6r euaTIed GLMG & TETeT G6u6soTIq W Q& WeLLITHISET :
(a) UTLUILUS 58 ellerT eflenLsefley LUInHS oeflgg6

(b) ey 6T e &6 C&HLL60

(c) BTev&s L LWeTUTL 6L GLlbLI(h & SIH 6V

(d) GUML I &afleL LBICHDH&HF QFUIS60

A: (a),(c)and (d)

(), () DODLD (d)
B: (a),(b)and (d)

(@), (b) LLHDILD (d)
C: (a),(b)and(c)

(a), (b) LOOMILD ()
D: (b),(c)and (d)

(b), () LOOMILD (d)

27 27 | Now-a-day's learning opportunities are more through social media. Our society expects the students to view the aspects from it.
@ 6TEMUI &HMTeV &L HH6L FeLng 26r_&miIGerler eumuillevmass &MHEGLWD UML) AFSLD 2 6TemEl. 3j6uMl6L aUBLD & ([HE S5 6T
LD ITETOTEU & 6T 6TH S &600T G60oTTL_ L&) 6V LIMT&:8 Geustor(HILD 6160 &Felpgsb el (BLoLS Mg ?

A': Negative concepts
TR T MWITET & ([HE S8 6T
B: Positive concepts

GBI LOEMMUITET & (& S8 6T
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C: Both negative and positive concepts

CHIENM MHMILD 6TH [T 06D MUITEOT 55 (& S18 6T
D: Entertainment concepts

QUMW SICLITE & & & M6T & ([HS S5 6T
A good teacher encourage students to during the class.

UGLILIMUIG @B Hevev LG flwiy 2615 &N &8 Cauetor()LD.

At Ask question to clarify their doubt now and then
SjeuauICLING CHaTeN&H6T CHL(h) FHCHHSHMS HTH SIS QHTETaIMS
B: Gossip unwanted thing
CEHMAILDHDOSE GMSS LMD GLIS S0
C: Converse with themselves
LDITEOOTEU [T 86T 51518 @15 s & 6T CLIF &G Q& T6Tem6v
D: Ask them to note down their doubts to clarify at the end of class
LOMETTEU & EH &G 6T FHGH&HMIGHM6T GMISHS eS8 Q& T () UG LILN6T @mIH Ul CHL&F Q&F U560
According to McDougall the three aspects of instinctive behaviour domains are :
08 (B&H60160T N6 2 GTETTTHS L& 608 & &Ml 60T H6I IS 6T :

A : Stimulation, Cognition, Conation
STETHSOETT, S F T, QF WVFTH
B: Conation, Discrimination, Affection
QFWEFTH, UTGUTOFT, 2 eTOEF T
C: Affection, Cognition, Creation
2 G, M FMT, SL&HIDEFTH
D: Cognition, Affection, conation
MEUEFTT, 2 aTIDEFTT, QFWIGVFTH
Find out the correct option by matching the major components of multimedia with its uses :
(a) Text - To add moving pictures
(b) Animation - To explain the concepts
(¢) Audio - To add live movements

(d) Video - To show unnatural things as live
(e) Graphics - To make sentences

LI6V28TL_& L1 QLIMHETEH 66T 6w M l60T LILI6iTE @BL60T QLIMTIHES SIS :
(a) UTLUUSILIL - B&BLD LILEISE0)6T @) 60)6007T8 560

(b) 2_uNeBL_L LD — &([H 5 ST emeT 6N6Ts: &8 60

(¢) 260 — S|EFE6U &ML T WIMTE G H60

(d) &TQevoT e — 2_aoremWHmensd 2 UNCTTLLLOMGS &L (HSHe0
(¢) GUEDIT &6M6V — 61 T8 S ULIMIG 6016 2_(H6UTE &S 6V

Az (a), (b). (o), (d), (e)
(@), (b), (2), (d), (¢)
B: (e), (d), (c), (b), (@)
(©). (d), (¢), (b), (2)
C: (d), (). (b), (e), (a)
(d), (¢), (b), (e), (a)
D: (c), (b). (d), (), (a)
(©), (b), (d), (&), ()

"UEHEFTL" MBS H6V 2 MIeuemL g H(BHBTET QLIMID QLW :

A:
D& JEFBIGTTHS
B:
Geurr]
C:
2G5 JITW6T
D:
QUITMHIS 6

'‘Qeumn Ceumemas"ufedrT s A flwiiy -

A

S el T LImTeuoriq uly
B:

SHMTE &L LIMqeoflwmy
C:

G HSMTEOTHG LI LITTFHWITT
D:

BEFQFGTEDETWITT

GET IT ON

Google Play
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S FOHG HTELVSHTSHEBHEHE ULMHIGLILGIWD e BSI :

A:
jevorevor T 6l (H !
B:
LMT&LY &G0 HTMEISBTSH6 al®BS!
C:
unyBsnaer allma!
D:
CHE B

4|34 SMeTGL& L Ljeveufler @uim@ iy :

A

SUUA ool weot i
B:

[Tl
C:

Ble0T DMeuofl& 810
D:

QU 60T

B STPLLBSIEnM-UN6L LIUN6TmI eUBHLDL §)6v88 60T GMILIL :

A

LeooTL & Q& Ten s
B:

CaummIemIng O SHMTen
C:

2 QIS QST
D:

aleneTs Q5 Mens

e @ 6Ty LD HmedT GLEI U6V 2 66T Navigation 6T6dTM 24TV QI FT6L eTeoT SHLADFQFTeI 6T HiflL| S @GLD.

A:

BTeumul
B:

MG &n JLD
C:

S6UMIGENT aNlemd &0
D:

@55 mevof]
7 FaHmi - 1: 261 MLS), B&TTLS, FLLDETMLD, BITLTE@HLO6TMLL GUMETmelMfley eTeveum au@GLilerh s @b 2 flw LNyH MBS &Sieulb
QULPMEIGLILL CaueioT(hlD eTedTal HHen s QUFIWITT nfleormiy.
Fa Dol —2: Hymell L0&TRET FhiIGLD 616D SemLienUg CHTHmeGHelT SCWTSHSTF].

A

Fammi 1,2 &ifl
B:

Fapm 1 &ifl, 2 Heum
C:

Fam 2 &ifl, 1 Heum
D:

Tl 1,2 Heuml

8|8 SIMLD eTTLIL(R6US! WTQGH6rs CaHLLI6T Lomeumsl @& C&H6T ! - auifl&6T @)L DG \LIMHMIGTET HT6v :

A:

HESHGSDET
B:

L0600 GLO & 636V
C:

UMb Tearmi
D:

Rl ILP ST
39 39
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Fflwng QuIGhIIYeTeang gl 7

apss  Umoy

(@) W - Br&fler HiaiuGd - CuosbeumulleT SigliLGH
(b) &r - S1d eumil, HrSHledr b
) % - CLosLeUMUILILIELESI6 SUIqLILIGE, HTs e Hiewf
@ » - Cebeumiil - BrSSH 6T SHglLGH
A
@
B:
(b)
C:
©
D:

(d)

QIMATLIG, DT EIQSHTSS) G emel eTelalanasLl QLI ?

A

SITyesor ULl QU
B:

SHITJ60oT QLTSI QuwIy
C:

QGG QuWF
D:

SITI6ooTL] QWY

Fflwmer Genemrenws QsHle) QFUIS :
(i) Myth - Q& TedTLOLD
(ii) Thesis — @y IG6U{H

(iii) Epic literature — Q&Feuaflev&s & wiLd
(iv) Tempest — &PV & THMI

A

(i) LOM@ILD (iv)
B:

(i) LHDILD (i)
C:

(i) LD GILD
D:

(i) HDILD (i)

SV HHJ 6T60T LIS 60T QILIMTIBHET :

A

&FOHeTD HH T
B:

&G 66T
C:

Gaflibg &S
D:

Lieofl 268

QameTn) GUIMTL 6THG 24,600TIq.60 GLOML LT 6u6torly &eoor(HLNG. &S 2

A
1893

1938

1986

1983

UGSl + @Ieor(® — QFTH&emeTs CFISHSI 6T(WS el LG :

GET IT ON

Google Play
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A
LI6oT60fl @ evor (b
B:
LI60T G\ 6oT6T0T (B
C:
Litrenfliyevor ()
D:
LI6bTeorevor (h)
BB e GTEOTERILD Q&ML 2 (1H
A:
QUMHAFTeL
B:
Sla&me
C:
FFFQF T
D:
QUL FQI&FM6V
46 |6 'CHeugIHSIL eTaTmenp&ELILIGIWD GenFs &mel gl ?
A:
&l
B:
Liemm
C:
2 mid
D:
60)[B LI TG00 Lq.
e QUTEIAITG&ET QUTed2_mLI UMY SQEH G BlelILGH :
A:
GreH
B:
QBUIGE
C:
(LPEVEDIBY
D:
LITem6y
e @ QUTHET H(HLD QF TS CHTHOSHH &&HLD
A
urg
B:
eT6iT
C:
6T6L
D:
856007
49 49

QBULIG 6V B)6v)600T U 60T LD &> 8561 :

A

uggeur, UTSS Wiy
B:

GDOUET, EDEHS
C:

2 a6, 2 LSS
D:

QLWIT, QLUIFRWIT

50 50 . . . R .
CEFMETSHG&MTEVEMEVLI QILIMLDEDILN' 6T60TLISI

A
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51

52

53

54

55

56

51

52

53

54

55

56

2 uf@eTeT QUITH6IT

B:

@ WIMHEN S WITETSI
C:

L0607l & 60T QFWIW @ WeLTS S
D:

2 uUymm QuUmEeT

'GUETHSITEIT — 6T60TM 6l 6MEUT(LO MHMIGF G1& MEV6MEV 6 61)60T ULITEVEMEBOT U LD G\LIUITT& LOMMHMmIS :

A
U HS!
B:
UDTHE
C:
oIaliiF:
D:
CUEMT hG 6T

"LDG 60T IT6OTLO 60011 &> &5 600T600T1' 6T6OTERILD BTem6V @) Wbmluieur :

A
&ITW|LDITEOTEU T
B:
@UTLOeNMHI& 21 ST
C:
(&600T 161G 19, LDGNVG ITET FMTHIL
D:

2 10mIl Ljeveuly

FH(HOBHCNEG MR BT QaFWwiul L @LLD:

A:

Q&M LOEBTEL
B:

E & B
C:

3N&&CLE
D:

S

(&LDIT6OT LIITLY.60T T60T —
Fa DMl 1: @) SQSTLIFl6L (GLDT60T 6T60TLISI 6T(LEUIT U LITTLY60TTE0T 6T60TLIGI 6 6%)60TLILIUI6s | 6m6v
FaDml 2: @SHOSHTLIf6V GLOT6T 6TeTLISI 6T(HEU T LITTLY60TT6IT 6T60TLIG! LiLI6oflemey

A

Sl 1,2 Frfluimers
B:

Fahol 1 g, 2 &ifl
C:

Fapm 1 &ifl, 2 Heumy
D:

Famol 1,2 Heumi

&M1& S LDGOTEOTET 6TedrmI CLUIMMHMUILIEHID Ligleminll L5 & eofledr @uim@uiwt :

A:
G161, H60WITeuoT & 6 & TeoT T
B:
UL Q&CSHTLemL &60WITeuT & [H&TeuT T
C:
aNBSHSTFeVLD
D:
55 60OT600T & T & 60T

QWU LF, Umena T @elfg&ser @ mealbld @5Siemmuiey A\mbs allermi&leory.

A

eumeTefl L6V, &6u0fl G510
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B:
Qumr@erflwiev, euetsilgsLb
C:
260TI8&HLD, HESI6UD
D:
FLLLD, B
57 57 . . . I . .
'SLALD eLpeumuI LD’ 6TedTD S eDLPESLILIGILD HIT6V :
A:
HELHSHTLD
B:
HESHSET
C:
CHeUMyLd
D:
B (BeUTFSHLD
8 |8 'urmflefley’ eTetrenid QEmevemevls LN &3 TS e FemL LILig :
A:
urmif] + eresflev
B:
LI + 6Tevf160
C:
LI + etenfled
D:
umy + @ev
S SWH&TU eTedTm S FW LTSS TLD Brefley GHMWS QUITUIM&UN6) C&MeTmiLD.
A
FSH IS BRI (N Blovey
B:
MBS FBIGET LW Blevey
C:
MEGTRG FBIGH6T (LD Blevey
D:
SMISH 0SS HmsET LW Blovey
60 60 . 3 . o . . .
@ QSTLIFl6V WIT, 6TeUIT, 6151, 6T60I6U 6T6OTERILD 65160TTE: & @5 & 6160 L WIME 6U[HeUSI :
A:
Lwesflemev
B:
eT6UUl
C:
QFWULGQUMHET
D:
aflemerr D
61 61 ' Fill the sentence with the correct phrase.
The rains came and poured
At tosoak up the earth
B: tosoak on the earth
C: tosoak in the earth
D: tosoak off the earth
62 62 | The stress falls in the syllable of the word "ministration".

A ultimate

B: penultimate

GET IT ON
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C: first

D: second

63 63 | 'When was the Nilgiris Mountain Railway built by British ?

A 1908
B: 1905
C: 1906
D: 1909

64 64
Mateh the following :
(a) Trees stretch their leafy branches towards the sun (i) Rain
(b) Branches are full of new green leaves (ii) Aufumn
(c) Trees absorb water and look green (iii) Spring
(d) Trees shed their leaves (iv) Summer
A (@)(ii), (b)-(i), (¢)-(ii), (d)-(iv)

B: (a)-(1). (b)-(ii), (0)~(iii), (d)-(iv)
C: (@)-(iv), (b)-(ii), (¢)-(D), (d)-(ii)
D (a)-(iiD), (b)-(iv), (¢)-(i), (d)-(3)

65 165 Find out phonetically odd one :

A: proud
B: crowd
C: loud
D: flood

66 66
Mateh the following :
(a) a cupful of (i) silver
(b) a bagful of (i) coffee
(c) a spoonful of (iii) money
(d) a pocketful of {iv) sugar

Az (@)-(0), (b)-(iv), (c)-(ii), (d)~(iii)

B: (a)-(ii), (b)-(0), (¢)-(iv), (d)-(iii)

C: (@-(0), (b)-(iv), (c)-(id), (d)-(ii)

D (@)-(iv), (b)-(iii), (¢)-(i), (d)-(ii)

67 67 | Space suits Protect us from

A death

B: heatand cold

C: danger

D: the climate

68 68 | pick out the correct rhyming words from the options given below for the given stanza.

"Summer comes
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in a blaze of heat
with sunny smiles".

A : Summer, Smiles

B: Comes, Smiles

C: Heat, Comes

D: Heat, Smiles

69 69 | Iniya is very tall for her age. 'Age' is identified here in this sentence as :

A': Proper noun

B: Collective noun

C: Possessive noun

D: Abstract noun

70 70 | 'Wandering Singers' poem is written by :

A Kamala Das

B: Rabindaranath Tagore

C: Sarojini Naidu

D: R.K.Ramanujam

71 |71 | The Phrase 'never-say-die spirit' means :

A: Letdown

B: Stop trying

C: Don't stop trying

D: Disappoint

72 72 | The sound made by an elephant is called

A Chatter
B: Talk

C: Trumpet
D: Howl

73 73 Find the suitable collective noun :

A choir
B: swarm
C: herd
D: flock

74 74 | Coin a new compound word from the option :
Light .

A coat
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B: board
C: house
D: man
75 75 | Arrange the seasons in a sequential order of the calendar.

A': summer, winter, rainy, spring, autumn

B: spring, summer, autumn, rainy, winter

C: winter, spring, summer, rainy, autumn

D: summer, rainy, winter, autumn, spring

76 76 | Fill in the blank with an appropriate concord.

Mr. and Mrs. Prem a white car.
A: has

B: is

C: have

D: do

77 77 | An announcement is given "It is quarter to one so break for lunch". Here quarter to one is :

A: 1.15pm
B: 1245pm
C: 145pm
D: 12.15pm

78 78 | Fill up the blanks with correct prepositions.
Sam wrote a poem 4.30, the evening Monday 15 of August 2018

A in, at, by, on, in

B: at,in, on, on, in

C: at,in, in, in, on

D: at,in,on,in,in

79 79 Two or more words which have same ending sounds are :

A Sight words

B: Rhyming words

C: Cross words

D: Compound words

80 80 | Fill in the blank with appropriate concord.

Either he or I mistaken.
A: s
B: were
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81 81
Match the planet with its feature.

(a) Mars (i) red planet

(b) Saturn (ii) red storm

(c) Jupiter (iii) blue ice giant
(d) Neptune (iv) ring and moons

Az (@)-(iiD), (b)~(iD), (©)-(0), (d)-(iv)

B (@)-(ii), (b)-(iii), (©)-(iv), (d)-(i)

C: o (@)-(0), (b)-(i), (¢)-(ii), (d)-(iv)

D (a)-(iid), (b)-(iv), (¢)-(i), (d)-()

82 82 | State which of the following is not a simple sentence ?

A': Whatever you do, do well.

B: Hearing that news, he shocked.

C: His courage and knowledge won him honour.

D: The man, being very hungry, ate too much.

83 83 | Kumar is an idle person.
Rewrite the sentence using idiom with changing the meaning of the sentence.

A Kumar is a coach potato

B: Kumar is a smark cookie

C: Kumar is a big cheese

D: Kumar is a couch potato

84 84 | T have been in the USA.
What is a tense used in this sentence ?

A Simple Present

B: Present Perfect

C: Present Continuous

D: Present Perfect Continuous

85 85 | 'We will be sleeping in terrace.
In this sentence the verb "will be sleeping” is used as :

A: Transitive Verb

B: Intransitive Verb

C: Ditransitive Verb

D: Regular Verb

86 86 | Find the type of syllabification for the word 'tongue'.

A Monosyllabic
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B: Disyllabic

C: Trisyllabic

D: Tetrasyllabic

87 87 | Write the meaning of the Idiom at sixes and sevens.

A: Blissfully happy

B: Completely Perfect

C: Moving Very Slowly

D: Confused or in a state of disorder

38 88 | The kitchen is small work in.
A to,too
B: two, too
C: too, two
D: too,to

89 89 ' Give a suitable synonym for 'Shakers'.

A': A person who shakes one
B: A person who is unsteady

C: A container used for shaking things

D: A physical condition of one's body
920 90 ' Choose the correct plural form of the word 'mystery' :
A': mysterys
B: mysteryes
C: mysterives
D: mysteries
91 91

If % of a laddu weighs 180 grams. What will be the weight of %Th of the same
laddu.

% LIMI(g; eullg6i eTemL 180 HlFmib erenfley, 24E5 sullgsiT % Liraigl 5T eTemL

&TETEAT 7
A: 192¢g
192 &)
B: 200g
200 &)
C: 208¢g
208 &
D: 2l6g
216 &

92 92 Which of the following is not a perfect square and perfect cube ?
L9 65762 (15 61 60T6U D MUET (LD (LD 6L 788 6TEUOTETILD LM MILD (LD (LD &560T 6TEUOTEIILD {6V6VITS 6T600T 6T ?

A: 64
64
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B: 81
81

C: 729
729

D: 409
4096

93 93 | Ravi has 3 rice bags which has 100 kg, 80 kg and 60 kg. He wants to measure all of them exactly and quickly. What capacity of vessel he must have ?
el GetrevllLLb 2 6iarm 3 f1H el e serfley WenmGw 100 §).6), 80 .8 LoHMILD 60 &)%) 1T 2 6TeTgl. 6T B)eNel 2|60 60T S WD
FRWMseLD, efenJaImsa|h 6TéHe @@ LTSS T CalsrG&MITT 6reofl60 9560 266y :

A: 25kg
25 G
B: 15kg
15 68
C: 20kg
20 HH
D: 18kg
18 B6)

94 94 | The dimensions of a sweet box are 22 cm x 18 cm x 10 cm. How many such boxes can be packed in a carton of dimensions 1 m x 88 cm x 63 cm.

@ 6of1LILI B 6T 606U GLD @ QUL LGS 22 QFLS x 18 Q&FLS x 10 Q&FLS 6TedTm 2emeilel 2_6Tensl. @ &emen 1 LS x 88 Q&FLS x 63 QFLS
S|6TEY6ITET F L emL LI QUL IGUN6 TS S e (B SH&HEVILD ?

A: 120
120
B: 180
180
C: 140
140
D: 100
100

95 95 The Saplings are planted at a distance of 4 m 50 cm in the road length of 9 km by Suresh. How many Saplings will be planted by him ?
&GI6q 9 H).LS QB Tem6ve]6TeT Fmaneuuiler e LImSH 6 4 LS 50 Q& .15 G enLQeuefulley 08 SHeTmigseT O MT 6T6of160 678560 60T
LOJ& &6TMIGHET [HLLQ@BLILITT ?

A 2000
2000
B: 1500
1500
C: 500
500
D: 1800
1800

9% 96
Find the perimeter of the figure given below :

35ecm

6c.m

&6 Gamipssliul (HeTer augeu S HiT HiD DETen6L HTeTTE.

3.5 Q718
6 Qg1

A: 19cm

19 Q&5
B: 29cm

29 Q& .S
C: 30cm

30 QF.LS
D: 40cm

40 Q& .15

97 97 | Find the place value of product of the place values of 7 in 97034275.
Q&HMTH & SLILIL L 6T6uoTeor160 76T @)L LG L1L|86rf160T GILIHE &6V LIGUEIT &ITeoTds. 97034275
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99

100

101

98

99

100

101

A 49
49

B: 70000000
70000000

C: 49000000
49000000

D: 490000000
490000000

— ||

“«—>4 Ccm<—>

Find the area of shaded region.

!

——4cm

“«—>r4 cme—>r

Hlpedli L LgSlullssr Lyl sretars.

A: 16 cm?
16 cm?
B: 12cm?
12 cm?
C: 3cm?
3 cm?
D: gcm?
8 cm?

Which one of the following numbers is not a square number ?
G LD 85556007 6T600TE @H6IT 6T[HS 6T600T (LD (LD 6UITE8 6T600T {606V ?

A: 361
361
B: 1731
1731
C: 2025
2025
D: 900
900

If ZAOB + £BOC = 2AOC =90° and £AOB = £BOC, then ZAOB =2

ZAOB + /BOC = £AOGC = 90° Inimilth ZAOB = 4BOC eTentléy, £AOB =7

A 300
30°
B: 450
45°
C: g0°
60°
D: ggo
90°

PQ and RS are two equal chords of a circle with center O such that ZPOQ = 80 then /ROS = ?

O smel sHLWLDTSHES Q&TeL aL LB i Herepsten mransar PQ whoib RS Goeid £POQ = 80 eefléy ZROS = ?

At 500
50°
B: go°
80°

C: 700
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70°
D: go°
60°
102 102

2 o
The general term of the number pattern is a, = %3] Find the sum of the first 4

ferms.
; ; R ; n?-1 : i ; ;
spIf eTetoT yemwolesr Glumg 2 mitiy a, = = aresflév WpB6b 4 2 miliyseflesr

Fa(HHeL HIeGTs.

A
3

w
= gl 8
| mCOU‘CO

w w
gle g

)
|~ &l

N
© B

M~
> g

105

103 103 In an Auditorium there are 40 seats in the front row and 50 rows were allotted. Each successive row contains two additional seats than its front row. How many seats are
there in the hall ?
R HMEVWTEISHSH 6T (PG auflenduley 40 E)(HE M &S EHLD QLTSS 50 auflenFsHEbLh 2_6Terear. 2BHSSHSS R6UG6UT(H
aflnsuligiin 5HEG WHamsw aflngaw el G Teor® @) (586N & 86T Fn(H)SH6VTE 2_6TET6T 6T6uT 160 & 656V EISHSH 60 2_6iTem
QDTS B)(1H8>60)8 85611 60T 6T600T6001 18560185 :

A: 8125
8125
B: 8115
8115
C: 8235
8235
D: 8225
8225

1041104 Draw a pie diagram to represent the following data, which shows, the expenditure of paddy cultivation in 4 acres of land is Rs. 80,000 and total number of worker's
expenditure is Rs. 50,000. Find in a pie diagram how much angle value is occupied for worker's expenditure.
@ens R el L allevss LLSH MG 4 9667 Blevss e QBsene LWL oL@ QLTSS Q&6 eh. 80,000. GLOSILD QLOMSS
26T G060 QF6V6Y emb. 50,000. 6T60Tl6L ULl L efleu&:s LILSH 6L QIDTEHS 6T FnedlWmev Sjeo L LILIBID G MeuuT S|6IT6Y &M600Ts.

At 360°
360°
B: 450
45°
C: 2250
225°
D: 2450
245°

105 1105/ In the class-intervals, if the upper limit and the lower limit are included in that class interval. Then it is called .
9le) g enL@auerflsefley, Go6b eTévemeuld, BLp eTevemeuld Sibs L1le) GenL QeuefluNeh 2 6TeTL MG @) BHETev S
eTeoT LILI(DILD.
A: Inclusive Series
2 GTTLEHRWS QGSTLT
B: Arithmetic Series
Fnl (H& QFTLIT
C: Geometric Series
QUIHEGSS QBT
D: Exclusive Series
ausRWS QBTLT
106 106
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Ravi has a square plot of side 145 m and a rectangle plot of 35 mx25 m. He

constructed a new house in % part area of the square plot and constructed a

shed in % part area of the rectangular plet. What is the total constructed
area ?

el eTedTLIeU 145 1S LIS &D 2 6mLUI &FSIT U6l BlV(IALD, 35 m x 25 m |6T6)] 2_60L U Q&F6UaIS allgel BleuLd QLM MI6ETETTT. A6V
FSIT 6UIG60 BlouGH 6L 5 -6V eLpeiTal LIMIE BlougHlev e eS(hID, QF6U6aIs 6Ulg6 BlevgH60T 25 —60 2 LIMIEG BlevSH 60 [ dn L MTILALD
SWLERMTT 6Tevfl6n, Feil &L I1QW QLTSS Blev&H 6T LITLIL| 6T6oTeoT ?

At 4725 m?
4725 m?
B: 4275m?
4275 m?
C: 4135 m?
4135 m?
D: 4315m?
4315 m?

107 107
What is the angle when the clock shows the time 2.00 o' clock 2

sHu&ETrh 200 wewfl STLGHWLGUTE, e sush&wWTeT  Ga&TewTLD
sremrliuflElmg) 2

A: Acute angle

(& M1 G MeoTLD
B: Obtuse angle

eNiflGasmevorin
C: Zero angle

LLER WG G&Teuorid
D: Rightangle

Q& MmIGsMetoTLD
108 1108 Use Caesar Cipher table set +5 the secret word for "Iti" is .
g7 LGOI +5 3L LS QSTGLmUL LWTUGSS) "lti" -6V LenmbSI6TeT FHHW UMiSan S
A: GOD
GOD
B: DOG
DOG
C: 0OGD
OGD
D: DOO
DOO
109 109

One pair of rats are doubled by the end of one month which are again doubled by the end of 27 month. In this case how many rats are there by the end of one year ?
R CFMY 676G 6T (NS6L MG (WIeN6h @) (B LOLMIGTE 215 &85 TN 6Ir. 2606 6T 2 —24lD TS (PL19.6M6) LesTGHID @)@ LIS TS
319 &G 6Tmer. G)BHElemneuNey (PG ALe0oT(H (WIGeN6L @ HEHEGLD QLTSS 61608 6rfl60T 6TevoT6u0r 1868 :

A: 1024
1024
B: 2048
2048
C: 4096
4096
D: 8192
8192

110 11

=)

The Fractional form of 1.33 .. . is
1.33 ... —60T H&FLD QU eULD
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| =

w| —

72
3
C: E
10
13
10

D 133
100

133
100

11T 111 A Metallic sphere of diameter 42 cm is melted and recast into small spheres each of radius 3 cm. How many small spheres can be obtained ?
42 Q&F.15 L (peiTeT F 2 v G6tor(®), 2 B&HHILL(H 3 Q&F.1S 4T W6TeT Aol 2 CGuMdH & GeoT(H\&6eTMe Q& WL L ML
615560607 (& 600T(H) &6 H 6L &Lh ?

A: 216
216
B: 512
512
C: 343
343
D: 729
729

12 112 i
The decimal form of o7 is

vl 65T HELD GUIg6ULD

35
0.3142857
0.3142857
B: 03142857
0.3142857

C: 03142857

0.3142857
D: 03742857
0.3142857

113 113 If the volume of a cube is 729 cu. cm and each side is x + 1 cm, then the value of X is :
729 &.Q1&F .18 H60T6TEYEDL LI 6([H 60T FSITHIN6T LIS S6TeY&H6T x +1 Q& . LS 6Tevf16b x 60T DG LIL| WIMs! ?

A: 9cm
9 Q&5
B: 27cm
27 Q& .S
C: l6cm
16 Q&5
D: 8cm
8 Q&L
14 114
o [21412) (218 —129)
Slmpllfy:ﬁ
2l==T2
L (21412 2P —12)
ShEGs: =—— 5~ &
21 —12
A 2997

2997
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116

117

118

119

115

116

117

118

119

B: 333
333

C: -333
-333

D: -2997
-2997

When proving that a quadrilateral is a trapezium, it is necessary to show :
@ BTHSHTLOMETSI @ FleUsHL0MS eSS G emeUWITeT BlLIb S 6060 :

A': Two sides are parallel
@\(H LGS MBISHET @) 606001
B: Two parallel and two non-parallel sides
@B LIHSHMIGET @)60600T LOMHMILD G)(H LIS MBIGET §)60600T LIDHMem6
C: Opposite sides are parallel
THQTHT LS5 MEISHET @)6)600T
D: Allsides are of equal length
DETHSIL LIGHSMEISHEHLD FLOLD
One of the angles of a triangle is 75°, if the difference of the other two angles is 35°, then the two angles are :

R (P& CHMETSHF 60T 62([H G&HMeuuTLD 75° oMM @)(H GG Mevor MG erflesr el GEH WITEFLD 35° 6T6vfl6L D HG G MEoT IS 6T :

A 600, 25°
60°, 25°
B: 700,200
70, 20°
C: 700,350
70, 35°
D: g0e, 1350
80°, 135°

The ratio of a diagonal of a square to the side of a square is :

R FSTSH 6T eemeVal L HH DG LSHHSHHGSD 2 6Ter GBS :

A: 1:2
1:2
B: 1.8
W:Ji
C: ﬁ:]
\E:I
D: 2:1
2:1

The income of a person is increased by 10% and then decreased by 10%. Find the change in his income :
@ BLFeT euBLOTeTD 10% B &HSESUILLH LNDE 10% GemésLILGSHMS! 6760160, Sl6uHenL U aIBLOMETSH 60 HUG LD
LOMTHME &S &HTET0T: :

A 10%
10%
B: 1%
1%
C: 20%
20%
D: 2%
2%

A person sells an article for Rs. 5700 with a loss of 5%. If he wants to sell it with a gain of 5%, at what price has he to sell the article ?
@ BLIT @ QUITHEMET eb. 5700 &G eNM@GLD CLIMSI 5% BL LD HMLAMTT. 6l 5% @eumuld QLm Celewor(H @ Lneoflen
SILIGQLIMTHE0ET 6Telal6me] efl6meuss @& eflmLIemenr Q& Gelaor(ILD ?

A Rs. 6000
€. 6000
B: Rs. 6300
€. 6300
C: Rs. 6400
€h. 6400
D: Rs. 6600

€. 6600

2417

Google Play
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120 120 The ratio of the volumes of two cones is 2 : 3. Then the ratio of their radii if the height of second cone is double the height of first.
QB FalDLSHEBEML &H60T 6meyderfler eSS 2 : 3 QLG LD, @T6UTLITLD & ldLN6T 2 WD (P& FnlbLI6T 2 WIS gLl GLImey
@ (Lo 6T6vt160 jeumner o, TmiIgG 66T e&RSLD :

A 513
\5:3
B: Q:Jg

I
bty @

D:

wow

2:
2:
121 121 The light house of Mediterranean sea is :

NGB H6MTE8 L6060 &6ukigHenT 6N6Td 80N 6T6T SeMP&HSLILIG IS :

A Stramboli

VL gmGLITel
B: St Helens

Q&FUWllesoT. QameveiT
C: Mauna loa

LD 6oT TGV
D: Mt Popa

L& evor - GuUImLium

122 1122 'project Tiger' was launched in

LedaseT LmaIsmiy GILLLD 6V QBMLMBIGLIULL SI.
A April 1993
gLV 1993

B: April 1973
gLigev 1973
C: April 1983

g6V 1983
D: April 1963
gLiIT6L 1963
123 123 The new education policy was revised in .

LBHW &6vell Q& TeTend HBSHSLILL L 24,600T(H

A 1952
1952
B: 1962
1962
C: 1972
1972
D: 1992
1992

124 1124 A charge of 10 coulomb flows through a bulb in 5 second. What is the current through the bulb ?

10 Saguilh 1etTemmL L (b 5 efleormiq GBHILD e W6t eflemés&etr auflwimg LIMUISma ereoflev 218607 eufl G Q&F6LaILD Ll 6T GeoT ML L&) 6or
2616 6T6OT6UT ?

A: 02A
02A
B: 0.02A
0.02 A
C: 0.002A
0.002 A
D: 200A
2.00A

1251125 Which code gives the incorrect pairing of the following list ?
GLp& &Ll ML QUIMTBHSTEHS! 675! ?

A': Red number plate — used in the vehicle for the president of India and Governor of states
FauliL] 616tTe00TH S5 5B — G UITEHS Semevall DMHMILD DML &, EhHT &6 60T M erkigerfley LiwWeTLm &S LILG LD
B: Blue number plate — given to a vehicle that is used by foreign delegates / ambassadors

BV 6U6ETITE0TS S 8B — AWEVBTL B LNTH BB &6T/ S5 Tas6T LIWeTLBSSID 6UTSH6THhISHEHSE 3 6fléHasluUGIin
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C:  White number plate — means that the car belongs to a common citizen
QEUETED 6T 61 6T0TE00T S B8 (h) — @) S FMGHTITE00T GLLD&H NG Q& ITHGLOITE0T UM EUTLD 6T60T LIS MG LD
D: Yellow number plate — for common vehicle
LOEHTF 6T 6UGTITE00T & & (D) — F TG TITEUOT 6U M 60T M6l & @B &M 26Ml& & LILHILD
126 126 Relative molecular mass =

@UL P& amm Blenm =

A': Vapour density / 2

<6l SILTSHE) /2
B: 2/ Vapour density

2/ o6l ALGEE
C: 2 x Vapour density

2x 246 SILTHS

D: Mass/ Atomic mass

Blenm / 24 Bleom
127 12

2

Choose the correct answer from the statements given :
(a) Tamil Nadu Legislative Assembly consists of 234 elected members from 189 General and 45 Reserved constituencies.

(b) The first Legislative Assembly session was held on 31 of March 1952.
(c) Under Article 333 of the Constitution of India, the Governor nominates one member representing from Anglo-Indian community.

(d) The fifteenth Tamil Nadu Legislative Assembly was constituted on the 7th May 2021.

Q&EMTH&SLILL G 6T eursH wnseedGna &iflwmer allenLenw C5FH6 &M &L :

(2) SLALBTH WLTElEVF FLLDETMLD 234 2 MILIL6TT8 66 Q& mesoTLgil. @SBV 189 2 M6 QUTS OSTGH 45 2 milifery
5al5C05T1E&S.

(b) FLLDEOTMSHH 6T (LNS6V Tl LS QSTLIT 3.3.1952 60T SleUMBISGLILIL L SI.

(©) TR WevemoLIL 2 mil'iL] 333 @6 HLp EGHCevm @BHHWT LITHBIH BeT 2EBHTT BIWL&SSLILGS DT,

d) 15 eugl HLALP& FLU L ID6TMLD 07.05.202160TMI eSS LILIL LS.

A: (a)and (d) correct

(@) HDID () &Fif]
B: (a)and (c) correct

(a) DH@ILD (¢) &1
C: (c)and (d) correct

(© HDID (d) &1l
D: (a)and (b) correct

() HDILD (b) &1f]

128 1128 Which is the oldest corporation of Tamil Nadu ?
SLADPBTL Q60T W& L LIPEmLOWITeT MBS TS 618 ?

A: Chennai
Q& 60760 60T
B: Coimbatore

CHMWIDLISSTT
C: Thiruchirapalli

SmFRATTLILETer]
D: Madurai

L0 gien T

125 129 Which one is wrong 2
Name of the projects River

[a) Bhakra-Nangal Project = Sutiej
(b} Nagarjuna Sagar Project =2 Krishna
(c) Indira Gandhi canal Project - Narmada
(d) Mettur Dam Project = Cauveri

SEUMITET @) 6metareniLl Sesor(hlLT1g &eein :

LIICHTEE B LSBT Quwy 4, 015 6T

(a) U&FTHRISS B LD - Fl Qe
(o) BT&EITI=aT FM6T S LD - ) (T eig eoOTIT
(c] @BEETTHETHE Gmeeumi B LD - BIL0emES
(d] GLLET Semewr HILLLh i el
A: (a)

(a)
B: (b)

(b)
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C: (o)
(©)
D: (d)
(d)

130 130 In which year the Ukraine was declared as a radiological and environmental biosphere reserve by the government ?
6TH G 2,600TIQ60 2 860 T60T BIT(H "GH T G W&HSHeIW6H FMY LMHMILD &MHm& @G 2 uFCHTeTL QUL LELD" 67T HBBITL D 2| T&FM60
siflelléasiiulLg ?

A: 2018
2018
B: 2021
2021
C: 2015
2015
D: 2016
2016
1311131 As chloroplast harvest light in plant harvest light in Ant. (Vespa orientalis)
&Carm@ymUllarmevl. Hmeurmhisefley eeaflenl SlmialenL Q&Fiaug GLITe, TIDLI6L (@evevLm giflwesTL medlav) sperflemw
Sl QFURMSI.

A: Xantophyll
FMHCHMSLN6L
B: Xanthopterin
FMHCSH MG L ifler
C: Carotenoid
SHEmLIgeorml(®
D: Erythroblast
eriflgGrmUilemmenL
132 1132 Imagine you planted the stem cutting of a jasmine plant and you sprayed auxin in order to get roots but unfortunately the roots are not grown. Why ?
aellensd QF QU Ha@ L LGS UHIWD QFUIISTS BlenearsSis Q&MeTEbnhiSeT, GLogild GaufseT u6TFeaus e s
2EF 6T QF61GSTEH6T, 9L60TT6L CelTE 6T aUaTTeN606m6V, &ITI600TLD 6T6TE0T ?
A Auxin does not promotes rooting.

2,560 Gouj& 66T eUeTIEF 6em 2618 & el LILIGH 6V6m6v

B: High concentration of auxin is sprayed.
2EF6T 915 & QFMeile Ogefleaasliul I BERMmS!
C: Low concentration of auxin is sprayed.
GODHS QFMe|mLW 26F 6T Qe &aLIUL I HER DS
D: Auxin promotes shooting.
2LEF 6T (PEMETE GBS B! UETTAIN S 2618 Gl &R M S
133 1133 Circular, biconcave, disk like structure and no nucleus, those characters are found in which cells ?
QUL LOMmeT @BLMUWLL GYWIHS, SL 6L WM LHMID 2 L &0 MDmenel CLIMETM LIGTITL| &0 6T Q& MetTL Q& 60&ET 6Tem6u ?

A: WBC
WBC
B: Platelets
HGeT Qv 6
C: RBC
RBC
D: Monocytes

QMMM QFSH6T

134 134 Which is not an underground stem modification ?
Q&MTH&S UL G 6TemeuMN 6L 6TSI &600TLq 63T LOMMHMI[HEHSHET G)6vemeu ?

A': Tuber
FPHIG
B: Bulb
(GITIh)
C: Corm
SHHHLD
D: Spine
(WL &6T

135 13

S

Select which belongs to cold - blooded animals :
Q&MTH&s UL LM eamel Gefl @IHs auemnsuiley oL MhiGLD ?

A': Fish, Frog, Lizard, Man
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L860T, Seuemer, Licued), Lneoflgeor
B: Fish, Frog, Lizard, Cow
18637, Zauemer, LIcV6d, I
C: Fish, Frog, Lizard, Snake
LS60T, SeUemaT, LIGV6d, LIMLDL|
D: Fish, Frog, Lizard, Crow
LB60T, HaUEmET, LIV6I, &ML
136 136 Find the effect of Global Warming from the following statements :
(i) Loss of bio-diversity
(ii) Irritating eyes and skin of human being

(iii) Increase in frequency of floods
(iv) Spreading of waterborne disease

2 & QEULILILWILNTSEN 6T 6lle0)6mey & en 6T Q&BMHI&SLILIL (H6TeT 61T S WSS 60 (BHS! & 6vorL_M& :
() 2_ullifl LV &G HetTenin G LER MG
(i) SHevorSH e gD CHMedlaLDd 6TflFFem6y 2 600TLTE &R MBI
(iii) 9195 LY. QEUEITETLD 2_(HEUTSH 6
(iv) B LH oD LEFRSEETTEL auBLD CHTISET LIT6y S 6dTmeor
At (i), (iii) and (iv) only
(i), (iii) LOMMILD (iv) L HID
B: (i), (ii) and (iii) only
(i), (ii) LHMILD (iii) L GILD
C: (i), (ii) and (iv) only
(i), (i) LLODLD (iv) LOLBID
D: (ii), (iii) and (iv) only
(i), (iii) LOHOILD (iv) L GILD
137 137 Through which of these oxygen is transported to every cell of the body ?
2 L 60l6b 2_6TeT REUQAUT(H QFLANSHGSLD 21,86rQ6T e1E 6T aumuilevns &LSSLILGRMS! ?

A: Blood platelets
QUE5 HLG ST
B: Red blood cells

AUds Feuliugo
C: White blood cells

QTS S ©\6U6ITen 61T g0 &> 5> 61T

D: Lymph
BleworBiy

138 1138 The complex organ which acts as the controlling centre of our body :
2 LedledT LnGSHW SLHILILITL (B LD6TTL6VLDTH H&HLp&HFn 19 W 1E& Flé&He0mer 2 miliL] :

A: Kidney
&) 00115 785 16165 61T
B: Heart
@swid
C: Brain
eLpemer
D: Neck
558!

139 139 How many pairs of salivary glands are present in the mouth cavity ?
Mg G &G arggemer G eneoor 2 IALDBT &rLiLlgeT 2 6ot 2

A: Four pairs
BITEOTE @) 606001
B: Three pairs
CLOEOTI @) 606507
C: Two pairs
Qeir® G 6o evor
D: Five pairs
BIbSI @60 6uor
140 140 One among the following is not the characteristic features of wool :
S0 Q&THS&SLILULLeummieT sLbLerflufler LIesorL| S|eVeuTE S :

A': Resistance to heat and water

QeuLILID MHMILD &6uoT6euot (58 E 6TH FLIL| SEoTe0LD G\ TeuorLgl.
B: Absorbs moisture

FI&S 2 MlEehH & Q& TeTEBLD

C: Good insulator
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FbHS &MLILITETS 6T
D: Used in the manufacture of surgical threads
M6l HRFFUNGTCLMS! MG LG BTeVTSH LIWGTLHGH MG
141 141 was the first "Man Landing Mission" to the moon.
S L L0TeTgl (PST(NSHN6L el Gene Blevalley HSenTulmmbisHs Q&S S LIDTGLD.

A: Apollo7
QUL GeuIT 7
B: Apollo 11
SIIQUTeLBeLIT 11
C: Apollo 8
QUL GeuIT 8
D: Apollo3
9I1QUMTeLEeuIT 3
1421142 Find the methods for removing hardness of water :
(i) Sedimentation
(i) Boiling
(iii) Distillation
(iv) Filtration
(v) Adding washing soda
BT &1g6018 SetTemnenl HEHGUSDHES 6l (LWenmen W & 6oL M8 :
(i) efLD LI 6UTE S S 6V
(il) OB TH &S M61SH60
(iii) GUITEM6V 6L &G 60
(iv) U &L H SV
(V) Feuameug CFIMLITem6 GFI5HH60

A (i), (ii) and (iii) only

(i), (i) LLMMILD (iii) L BHID
B: (ii), (iii) and (v) only

(i), (i) LOHKILD (v) L HID
C: (i), (i) and (iv) only

(i), (ii) LDHALD (iv) LB LD
D: (i), (iii) and (iv) only

(i), (iii) LOMMILD (iv) L HID

143 14

<

The direction of air in a particular place can be determined using :
@flLgH 6 afaid &THmler Hengeanw Sevor MW LiweTUGILD &@Hed :

A': Barometer
UMy mLomest]
B: Hydrometer

Biwomeofl
C: Weather Cock
STHNHFSHHTLIQ
D: Atomic Cock
S|P FHBTLLY.

144 144 Among the following gases which one is acidic in nature :
LNedTeu(BLd e 886160 31065 & 60TemIn Q&5 T6oT LI 6151 ?

A': Nitrogen
b1y £360T

B: Oxygen
<1,856r9 2667

C: Carbon di-oxide

STTLET L ,&HnF (D
D: Ozone

@G medT

145 145
Match the following.

{a) Detergents (i) DoT
(b) Fertilizers ii) Sodium Sulphates
(c) Insecticides (iii} Chromium

(d) Leather Industries  (iv) Nitrates
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Qum(mEEHIS

(a) FEVEMEUSHTET (i) DDT

(b) 2 grumer (ii) Gemguib s6uGUL (HssT
(c) LLEFF & Glamsueblssit (i) &Grmslwih

(d) Gzme Garflhrreneugser (iv] empBLGrL(Hl&eT

A (@)-(0), (b)~(id), (c)-(ii), (d)-(iv)
(@)-(D), (b)-(ii), (¢)-(iii), (d)-(iv)
B (a)-(iv), (b)-(ii), (¢)-(ii), (d)-(i)
(@)-(iv), (b)-(iii), (¢)-(ii), (d)-(i)
C: (@-(ii), (b)-(iv), (¢)-(D), (d)~(iii)
(2)-(i), (b)-(iv), (¢)-(1), (d)-(iii)
D (a)-(iid), (b)-(0), ()(ii), (d)-(iv)
(@)-(iii), (b)-(1), (¢)-(iD), (d)-(iv)

I The energy required fo raise the temperature of aniron ball 1k is 250 Jk-1.
Calculate the amount of energy required fo raise its temperature by 20 k.
26 BEbyl upzlst Gadudsasw | K e uissiasng 250 T Gaoum
Camatu@ang. st Cadunmasu 20K 2 wismasneg 3smawursr
Qsuliu gy hmsmad samsEHE
A: 5Kk]
5 &).g360
B: 500kJ
500 623060
C: 5000kJ
5000 8).82760
D: 50kJ
50 §).23°60
147 147

The amount of calories required to raise the temperature of water from 45°C to 53°C ?
Brfletr QeuliuElemeuemiLt 45°C-60 BB S 53°C QeULILIBlENELE S 2 WTHE CHemauwlment &Geumiflufesr LG L wimgi ?

A: 376747
37.6741
B: 37.674KIJ
37.674 KJ
C: 33.4881J
33.488 )
D: 33.488KJ
33.488 KJ
148 148 1 our daily life where could we feel Vander waals force ?

BLO Heorafl eumheN6v aumesorLeumeveiv eflem&ullement ereumile 2_6ooTFH GMTLD ?

A: Pen
Gueorm
B: Book
LS S&LD
C: Pencil
QUETR6
D: Diamond
el

149 149 vapourization process occurs only at :

2eNWmged Blshe) Blspag :

A : the bottom of the liquid

FrausS e SiqlILGS uiled
B: the mid of the liquid

Braussar BEULGH Ul
C: the surface of the liquid

Breugser Lpliurliiey

D: near the walls of the container
5606011607 &aU([HEG BV

150 1150 1 0.004 A current flows through a circuit, then what is the current in micro ampere ?
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R FMHMleL 0.004 A 366y LAeTG6TITL L LD LIMLIS M 6760160 enn&CTT b DLNWwif6b 16T GeormL L LD 6TetTenT 2

A 0.004 pA
0.004 pA

B: 0.002x10° pA
0.002 x 103pA
C: 0.004x 103 pA
0.004 x 10°pA
D: 4.000x10% uA
4.000 x 103pA
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